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Hansen – Sax (1989) - Black appears to have the advantage with an extra pawn, passed & dangerous, but can you see & exploit the achilles heel in Black’s position (5 moves, 2 variations)?
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The Kasparov-X3D Fritz match finished all square 2-2 with the final game, a Queens Gambit Accepted, coming down to a Q, R, g & h pawns each in 27 moves. Fritz had to thank a second game blunder by Kasparov for achieving a drawn match as it was never able to gain an advantage in any of the games. Its third game effort was particularly inept where it was all at sea in a blocked position & unable to come up with any plan to counter Kasparov’s pressure & gain of a pawn on the queenside.  GM Nigel Short said its play showed it was just a ‘dumb machine’. I’m sure a high proportion of readers would instinctively find the only logical counter, an advance of the f pawn to open up the kingside.  Instead Fritz’s only signs of aggression are two one move traps:




Game 3:     Gary Kasparov  -  X3D Fritz




Queens Gambit Dec., Semi-Slav Defence



 1       Nf3   
Nf6  


 2       c4  
e6



 3       Nc3  
d5  


 4       d4  
c6



 5       e3  
a6  


 6       c5   
Nbd7



 7       b4   
a5(a)  


 8       b5   
e5



 9       Qa4  
Qc7 


10      Ba3  
e4



11      Nd2  
Be7(b)  

12      b6  
Qd8



13      h3  
0-0  


14      Nb3  
Bd6(c)



15      Rb1  
Be7  


16      Nxa5 
Nb8



17      Bb4 
Qd7  


18      Rb2  
Qe6



19      Qd1  
Nfd7  


20      a3  
Qh6



21      Nb3  
Bh4(d)   

22      Qd2
Nf6



23      Kd1! 
Be6  


24      Kc1  
Rd8



25      Rc2  
Nbd7


26      Kb2  
Nf8



27      a4 
Ng6 


28      a5   
Ne7



29      a6!  
bxa  


30      Na5  
Rdb8 



31      g3   
Bg5  


32      Bg2  
Qg6



33      Ka1  
Kh8  


34      Na2  
Bd7



35      Bc3  
Ne8  


36      Nb4  
Kg8



37      Rb1  
Bc8  


38      Ra2  
Bh6



39      Bf1  
Qe6  


40      Qd1  
Nf6



41      Qa4  
Bb7  


42      Nxb7  
Rxb7



43      Nxa6  
Qd7  


44      Qc2  
Kh8



45      Rb3 
resigns

a)  White will target this artificially isolated pawn.

b)  11...g6 12...Bh6 to assist the advance ...f5/f4 is better.

c)  A waste of time – Kasparov is not likely to fall for 15 cxd6?? Nb6 trapping the queen.

d)  Another one move trap – White prevents 22...Qxe3+. 

The inaugural Teams Lightning competition was held on November 9 at the Kings.  Eight teams competed in 12 frenetic rounds.  Winners were the Haasse/McCamon/Farber combination from Fremantle who scored 34.5/36 & defeated the R Maris/L Taylor/N Maris (Taylor) family group in the final. The Reserves award (Under 1850) went to another Fremantle team, the Dirty Forkers (Saffen/Dunlop/de Heer), who accounted for the Perth Patzers (Patron/Curtis/Saxon) while Alex’s Greats from Perth (Janceski/J Smith/Bannon) defeated the Freo Swindlers for the Minor award (Under 1500).  Engraved chess clocks were presented to the winning teams and 12 bottles of champagne were given out to individual winers (quickest winner, etc).  It is hoped many more teams will compete next year.  Thanks to Gordon Dunlop for organising & sponsoring the event.

Get along today for the final WA Grand Prix event for 2003, the Christmas Open at the Kings Hotel. Submit entries at 12.30 prior to start at 1 pm.  Tomorrow rounds 4-6 from 10.30am – 5pm. 

SOLUTION:  Black’s achilles heel is his back row with no escape square for the king: 1 Bf1, Qa6 (if 1...d3  White wins a piece with 2 Qxd3! Bxd3  3 Rxe8+, Qf8  4 Rxf8+, Kxf8  5 Bxd3) 2 Rxd2! resigns (2...Rxe2  3 Qd1! d3  4 Bxe2, dxe2  5 Qd8++.

